
Timely Practice solve strand 1 new learning questions

NO calculator

1. (a) Solve a+ 20 = 32

a = . . . . . . . . . . . . .

(b) Solve 4b = 40

b = . . . . . . . . . . . . .

(c) Solve
c

2
= 4

c = . . . . . . . . . . . . .

(d) Solve d− 9 = 46

d = . . . . . . . . . . . . .

(e) Solve 5e = 35

e = . . . . . . . . . . . . .

(f) Solve
f

5
= 10

f = . . . . . . . . . . . . .

(g) Solve 8g = 88

g = . . . . . . . . . . . . .

(h) Solve z − 15 = 20

z = . . . . . . . . . . . . .

(i) Solve
x

5
= 20

x = . . . . . . . . . . . . .

(j) Solve 4y = 44

y = . . . . . . . . . . . . .

Answers: a) a = 12 b) b = 10 c) c = 8 d) d = 55 e) e = 7

f) f = 50 g) g = 11 h) z = 35 i) x = 100 j) y = 11
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